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Direction (Q. Nos. 1-10) : Read the
following passage and answer the
questions that follow. Your answers to
these questions should be based on the
passage only :

Everyone is fascinated by identical twins :
they look the same — even advanced
digital imaging systems sometimes fail
to tell them apart — and yet they have
different personalities and abilities.
Literature and detective stories depend
upon them for providing a plot twist or a
mystery. In reality, too, there have been
numerous cases of one twin
impersonating the other for a joke, to
escape punishment or to advance a
romantic interest. They may have the
same eyes, the same hair colour, the
same smile, but one will be shy and the
other more outgoing, or one cleverer or
funnier or kinder than the other and this
despite their having the same DNA. They
do not, however, have the same
fingerprints, which are believed to be
determined by environmental factors,
twins like spending time with each other
— often to the exclusion of others. In fifty
percent of cases, they even develop their
own secret language, furthermore, it is
commonly believed that they have the
ability to communicate telepathically so
that, for instance, one is able to draw a
picture of what the other is thinking.
There have been innumerable claims that
a twin has shared the physical or mental
pain of the other — known as ‘crisis
telepathy’ even when they could not have
known it was happening. Monozygotic
twins — who share everything before birth
usually share everything after birth too :
the same tastes in food, music, sport or
politics... One might think that this could
be explained by the fact that parents often
give their new-born twins confusingly
similar names, continue to dress them
exactly alike until they are well into their
teens, and generally treat them in the
same way throughout their upbringing.
However, there are well-documented
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cases of identical twins brought up
separately from birth who nonetheless
made the same decisions and life
choices. In the 1980s, there was the
much-publicised case of the identical
twins ‘Jim’ brothers. Born in Ohio, USA
in 1939, Jim Springer and Jim Lewis
were put up for adoption as babies and
raised by different couples, who happened
to give them the same first name. When
Jim Springer reconnected with his
brother at age 39 in 1979, a string of other
similarities and coincidences was
discovered. Both men were six feet tall
and weighed 180 pounds. Growing up,
they’d both had dogs named Toy and taken
family vacations on the same beach in
Florida. As young men, they’d both
married women named Linda, and then
divorced them. Their second wives were
both named Betty. They named their sons
James Alan and James Allan. They’d both
served as part-time sheriffs, enjoyed
home carpentry projects, and suffered
from severe headaches. In August every
year, thousands of twins descend on a
town in Ohio called Twinsburg, named
by identical twin brothers nearly two
centuries ago. The Twins Days festival is
a three-day event consisting of talent
shows and look-alike contests that has
become one of the world’s largest
gatherings of twins. There have also been
other festivals in the UAE, Australia,
France and Nigeria. The latter country
has a large proportion of twins in its
population : one in 22 births to the Yoruba
people in Nigeria produce twins, identical
or fraternal, which is a much higher
incidence than anywhere else in the
world. This has been attributed to the
eating of yams, but the theory is disputed.
Biomedical researchers descend on these
events, regarding them as a precious
opportunity to conduct surveys and
experiments. Scientists study twins in
order to collect evidence for the age-old
nature versus nurture debate : how much
of their behaviour is hereditary and how
much conditioned by their environment;
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what are people actually born with and
what is caused by experience? Because
identical twins come from a single
fertilized egg that splits in two, and share
virtually the same genetic code, any
differences between them must be due
to environmental factors. Studying the
differences between identical twins to
pinpoint the influence of environment,
and comparing identical twins with
fraternal ones to measure the role of
inheritance, has been crucial for
understanding the interplay of nature
and nurture in determining our
personalities, behaviour and vulnerability
to disease.

1. Identical Twins who look the same
are different in which aspect?
(A) Clothes
(B) Personalities
(C) Imaging systems
(D) Complexion
2. How is the difference between the

two identical twins helpful to
authors?

(A) Provide a story
(B) Provide a character
(C) Provide a plot twist
(D) Provide romance
3. Which difference in two identical

twins is determined by external
factors?

(A) Hair colour
(B) Fingerprints
(C) Smile
(D) Eyes
4. What percent of identical twins
develop their own secret language?
(A) Can’t say
(B) 30 percent
(C) 50 percent
(D) All of the above

602 CRIGAIEE JROER 699 ARG QI AQRS!
6dIg @9 6°Q88| QI F6QER AI6R
24IRa8| Q108 AAQAT IR 9Q° FTAIRNE
(fertilized) 28IQ 8¢ Q&8I 2AQIT LRANIGER
9@ 62IR 6QARIER IRl 6R6RER (genetic)
Q°6a0 ASNAG QRXIBI YAIRR AJER QIR
99698 QARG QIQE 6Qlg 6RINAN 61N
F6I06 @9l UG AN AIRIPIE AHREQ
2UNR QNIEIER 9°619RfcIa QAR
QEIRQIAIR AAQAT1 AIFIRIE ATC AAYIS
ANR1A QARI, 990 IS° AIRFAIRE SR BT,
QITISRIT ¥Q° 6916 62Ig @IRTIQ RIAEYRR
QI8 R8I 9@ 99994 99|
1. AAQQ1 QIR 9a 6QYRIAIR AR

9Q° JQQQ0IQ Qe gaR?

(A) 69191998

(B) @4QQ

(C) 2QLNAE Mag

(D) 6929 Q&

2. @a@i QAAQE1 QTR QL AUER 2R
IR ERSRAIGG AIQIYY F6Q?
(A) 9f 6RYS
(B) 909928 @<
(C) Q2R 671§ QARIRS!
(D) 6QUAIQ IR KRR

3. AAQQ QIR QEe AU6a 2RI 699
QIR QIFY FING6QAIY 621NN ?
(A) 6Q9Qe
(B) 909%

(C) 29
(D) a9l

4. 6960 9G4 QAAQU QAR FFIA
Q9T IR 2R2IZ?
(A) SEIRIT
(B) 30%
(C) 50%
(D) QUERIY ANY

/151-A



5. When one twin is able to share the

7l

10-

physical or mental pain without
even being communicated, it is
known as

(A) intuition

(B) crisis telepathy
(C) vibration

(D) teleportation

. What do we call the twins, who

share everything before birth?
(A) Monozygotic

(B) Fraternal

(C) Dizygotic

(D) Monoamniotic

Which festival has become one of
the world’s largest gathering of
twins?

(A) Ohio

(B) Twins

(C) The Twin Days

(D) Twinsburg

Which country has a
proportion of twin population?
(A) Nigeria

(B) USA

(C) France

(D) UAE

large

What is the reason of the high rate
of twins produced by the Yoruba
people?

(A) Culture

(B) Marital status
(C) Eating habits

(D) Dance and music

Biomedical scientists conduct
experiments in these events to
collect which evidence?

(A) Law and legal issues

(B) Nature vs nurture debate
(C) Climate change

(D) LGBTQ+ rights

5.

10.

66066 TR 6QIGI6ITER FEE
QIR Aea 1988 G AIede A]E!
Jo9Q §e6q aRgRId @a9l Aie aad,
01 @€ QLIAI?

(A) 2898

(B) 69RQIe Qe

(C) Qe

(D) 69MEANREETAR

699 QIZIRI 9QQSQ AQ gade At
Qlg @8 LAIN?

(A) QERIFERITY

(B) @IQ AN&1E

(C) PR IREAITR

(D) AI6RIBIAREER

699 Q998 QIIRAIST AeARE qAlet
Q46a Q9 92e?

(A) 626

(B) g@ad

(C) @ 9RAY 60}

(D) YRR}

. 699 699Q 6RIRAHIICR ARG

AQAIS 2R ?
(A) RIRERA2I
(B) £.492.9
(C) g1

(D) @9 @

. 692 QY FQAS! UBRQ EAINIER

AHYIYR IR 9 F9E?

(A) e

(B) 69QI2a g0

(C) SIQY &Ry

(D) g4 @ Q°a1e

QIEAICITAN CI6QVRFER 99 QAYER
ANVRAIY A LAY IS A°gL
QM ?

(A) IS B AIRARTS AAQAYI

(B) 9Q0 QFIF AIRLAIRE S0

(C) QI8 9eeaR

(D) AORGT 2R

/151-A

[P.T.O.




Direction (Q. Nos. 11-16) : Read the
following passage to answer the question.

Ecosystems provide people with a variety
of goods and services, food, clean water,
clean air, flood control, soil stabilization,
pollination, climate regulation, spiritual
fulfilment and aesthetic enjoyment, to
name just a few. Most of these benefits
are either irreplaceable or the technology
necessary to replace them is prohibitively
expensive. For example, potable
freshwater can be provided by
desalinating sea water, but only at great
" |cost.

The rapidly expanding human population
has greatly modified the earth’s
ecosystem to meet their increased
requirements of some of the goods and
services, particularly food, freshwater,
timber, fibre, and fuel. These
modifications have contributed
substantially to human well-being and
economic development. The benefits have
not been equally distributed. Some people
have actually been harmed by these
changes. Moreover, short-term increases
in some ecosystems’ goods and services
have come at the cost of long-term
degradation of others. For example, efforts
to increase the production of food and fibre
have decreased the ability of some
ecosystems to provide clean water,
regulate flooding and support biodiversity.

11. Expanding human population has an
adverse effect on

(i) spiritual fulfilment

(i) availability of
freshwater

(iii) employment

(iv) biodiversity

potable

Which of the statements given
above are correct?

(A) (i), (ii), (iii) only

(B) (ii), (iii), (iv) only
(C) (ii) and (iv) only
(D) All of the above

F60651 (94 QY 11-16) : RS ALERT
2RI JOF 999 20 geIe 2ag!
689019% (Ecosystems) SRIRFIGE IR I8R
geIa 9|4 8 629, HIQY, IYR a9, I8 UL,
gy Faad, Aael gaol, AU AW, IRIG
Fadfoead, e aaggel 9e°
6d0dYERINR IR QAUERIT RSYIT QIR
cOR2N| 92091Q AAIERAC! I 19Ee U8
6R6010Q YORIAIG] NEAQ YTRYLR AYRED
20161 4gee JIRG JIR QYC AICAR 6F6]IEAIT
QRRIQ| QLS YD UYL ARG F68IIGRE
QNG §F CAICINELR, FIG 12 RAIGIER
QyeQIcas| _

9o SRSl 9F SR 9Re ULEIRS!
Qell @Y B 641, F6HVRA IGY, | IR, K10,
TIReR, FI6Rd QOUF 9ad AR YA
6Be0ae F6490I96a ARG 62198 | A8
Qe qIgy 6 26eFoa dad 6996 1@
J09RRa 2IYQF2 2ARQIR Q&R ¥T QTRYeR
AAIQAIBS VUSEA 99 FAUAIR A& | <@
J0eae QIR gREeR 666 EMIQ VGIY
6219831 2eF ARTINFR Q1d A A9
Ry FRAAER 6R60R 6RgRa Jg-AA@
QQY B 699 AINR 6LIRE| QLS YD
HIQY B TIRGRQ IR IR YA 6RECR 6F6AGR
2GR GF 691918, IR FATERAE, 6FTUG!
QI @AY AR 6928 |

11. Q069 9fg 99a°HIQ I9q1e
JeIe 6QgQlg FeR!
() eRIFde adgde!
(i) QYE UFG FRA QAN
(i) F PSR
(iv) 659 YUGI
QUQ AYE 689 A8YeR OR?
(A) (D), (ii), (iii) 6R9R
(B) (i), (iii), (iv) SRR
(C) (i) NG" (iv) 629
(D) QU6QUIY AAY

/151-A



12-

13‘

14.

The passage mentions that ‘some
people have actually been harmed
by these changes’. It indicates
towards

(A) inequitable distribution of
benefits

(B) decrease in the ability of some
ecosystems to provide clean
water, regulate flooding and
support biodiversity

(C) Both (A) and (B)
(D) Neither (A) nor (B)

Which of the following is correct in
the context of the passage?

(A) The rapid expansion of
population has adversely
affected some people

(B) Sufficient efforts have not been
made to increase the
production of food and fibre

(C) In short term, some people may
be harmed, but in long term,
everyone will benefit from
modifications in earth’s
ecosystem

(D) None of the above
With reference to the passage,
consider the following statements :

(i) It is imperative to modify the
earth’s ecosystem for the well-
being of mankind.

(ii) Technology can never replace
all the goods and services
provided by ecosystems.

Which of the statements given
above is/are correct?

(A) Only (i)

(B) Only (i)

(C) Both (i) and (i)
(D) Neither (i) nor (i)
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15.

16.

17.

According to the passage, which of
the following can be taken as the
main reason for the modification of
earth’s system?

(A) Technology

(B) Increasing population

(C) Lack of an integrated approach

(D) All of the above

Which of the following can be
considered as the most suitable
title for the passage?

_ (A) Modification of our ecosystem

(B) Our natural resources

(C) Harmful effect of increase in
human population

(D) Human interference in our
ecosystem

If all Ps are Qs and some Qs are
Rs, which of the following must be
true?

(A) All Ps are Rs

(B) Some Ps are Rs

(C) No Ps are Rs

(D) None of the above

15.

16.

17.

260 2QUIE] F6TIQ 6RA] 67
80 9999 g4 R4 QU I
QAAIR AIS?

(A) 696RIERIT
(B) @&g @8A°SI
(C) 2°2C UCAIQ UNXIS

(D) @deQly 4ad

Q6719 6990 2g6eeTa QUYS 18R
6RIRAI[S?

(A) 27 689 A9ea A8
(B) &IFQ 9IQee AAQ
(C) QRA°&l QEQ VAT gaIQ

(D) 2IFl 669 F9R6Q FIea 2g6]d

Q9 Afg Ps 6228 Os 99° AAg Qs
6228 Rs, 6069 760Ig 698 OR?

(A) Q91g Ps 6228 Rs
(B) 6969%@ Ps 62Q8 Rs
(C) 6@16Q Ps, Rs Q6%

(D) €2Iq 616AT Q6%
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18. How many pairs of letters are there

19.

20.

21.

in the word “CASTRAPHONE” which
have as many letters between them
in the word as in the alphabet?

(A) 3

(B) 4

(C) 5

(D) 6

In which year was Facebook
launched?

(A) 1972

(B) 1980

(C) 1999

(D) 2004

What is the meaning of the word
‘Jargon’?

(A) A specialized language of a
particular group of people

(B) Techniques of good writing

(C) A special article written by an
editor

(D) None of the above

An Informal Gathering occurs when
a group of people get together in a
casual, relaxed manner. Which
situation given below is the best
example of an Informal Gathering?

(A) Debating club meets on the first
Sunday morning of every month

(B) After finding out about his
salary raise, Jay and a few
colleagues go out for a quick
dinner after work

(C) Meena sends out 10 invitations
for a bachelorette party she is
giving for her elder sister

(D) Whenever she eats at a
Chinese restaurant, Roop
seems to run into Dibya

18.

19.

20.

21.

“CASTRAPHONE” §Q6Q 696218 9do
JOP 2VQ aAZ, QIFFRIEA AQRIER
640G 2FA IR SRFIIEA @ A6 AT
28?

(A) 3

(B) 4

(C) 5

(D) 6

69Q Q¥ 6TALR (Facebook) Q@
62IREIMI?
(A) 1972
(B) 1980
(C) 1999
(D) 2004

Jargon’ 999 28 @47

(A) 9@ PEY SR6TIYIQ 60T YR
Qg

(B) Q@¢ QHLQ 6@laa

(C) AR QA AYS 9@ o] 6

(D) 9aQ 6F1638 q6<

69606Q6R 691G QTR 6RIF AT
J9996a IR0 QAB, 6U606IER IR
2EFIA0IR AR A6S| 67)IQ 21Qgl
AUQ 634 I2IQ IQ AYY AQILAE?
(A) 99912 gaIe 99QIQ ARIRER B6a0"
Q9Q QA
(B) @afll Q& 62I102Q F1& @4 QI
@8 Qeedie AIFsa adaARIe QI
41g QUG 6RINE RRARIY VIR A1
(C) 9% @Rd1 IR NIeAQT aAIF”
6QR8QI AR 10 R4S IS FARE]
q0IRRI

(D) 64 6KESERER TINTR 6QFAIIER
SN, QO QNI FREQ ARSI T8 RIS
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Direction (Q. Nos. 22-26) : Study the
following information to answer the given
questions :

(a) Eight persons E, F, G, H, I, J, K and
L are seated around a square table-
two on each side.

(b) There are three lady members and
they are not seated next to each
other.

(c) Jis between L and F.

(d) G is between I and F.

(e) H, a lady member, is second to the
left of J.

() F, a male member, is seated
opposite to E, a lady member.

(g) There is a lady member between F
and I

22. Who among the following are the

three lady members?
(A) E, Hand J
(B) E, Gand J
(C) G, Hand J

(D) H, Eand G

23. Which of the following is true about

J?
(A) Jis a male member

(B) J is a female member

(C) Gender of J cannot be
determined
(D) Position of J cannot be

determined

Gedael (99 Qe 22-26) : 79 IR
21904 @3 949 Qa9 ag!

(@) 98 IR @6 QA 69T EUAIQ 65N
QIQQES E, F, G, H, I, J, K 8 L 210%€
QU@ @det!

(b) 6Q0I6Q Ga K AIR! AQAY 2B 9&°
EFIER 692 QIR AIS6a I3

(c) L99° F A86Q J Q38|
(d) 19e° FAZ6a G adgl

(e) H 62Q8 9648 Q2@ AQQyl, €Q J Q
QN6 Q19 Qo6 QTR |

() F 6298 @64 gQ¥ A9y, 62 LR
A9yl E @ Q910 Q96q @dg!

(g) FBIQ6Q 264 78R Qe odg|

22. GRS RIEQ 6RAMIER GF AR
AQQYI?

(A) E, HY9S" J
(B) E, GN&° J
(C) G, HN&" J

(D) H, ENS® G

23. J ARR6Q 69QG AN ?

(A) J 6298 @648 ¢Qf Ao
(B) J 6298 @64 Q2% 2y
(C) J Q Ae 9189l Aae g6L

(D) J @ @39l gIf 9189l A Q6L
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24. Who among the following is seated 24. AR CRIEA @49 E99° H O1rRICQ 953 ?
between E and H? '

. (A) I
B) J (B) J
) F (C) F
(D) K B &

25. Who among the following is to the 25. F Q 99l QI9aigeq @9 @38
immediate left of F?

oy (A) G
B (B) J
& 1 (C) I
D) K (D) K

26. How many people are seated 26. KNQ° F (1U6Q 62600¢ 9383 ?
between K and F?

(A) One ) TR

(B) Two (B) 98

(C) Three (C) 8@

(D) Cannot be determined (D) SI18QI ANQ Q6S
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27. Which of the following clearly

28.

29.

defines the function of mass media?
(A) Providing information

(B) Work as a responsible resource
(C) Providing a political forum

(D) All of the above

T, S and R are three brothers. T's
son Q is married to K and they have
one child Rahul blessed to them. M
the son of S, is married to H and
this couple is blessed with a
daughter Madhvi. R has a daughter
N who is married to P. This couple
has one daughter Karuna born to
them. How is Madhvi related to S?

(A) Daughter
(B) Niece
(C) Granddaughter

(D) None of the above

A postman was returning to the post
office which was in front of him to
the North. When the post office was
100 m away from him, he turned to
the left and walked 50 m to deliver
the last letter at CGO complex and
moved another 50 m to meet his
friend. Then he turned towards
North and walked 100 m. How far
is he from the post office?

(A) 150 m
(B) 100 m
(C) 50 m

(D) 75 m

27.

28.

29.

G69Ig FIQ 6996 FOARING YRILY
29A6Q Y e T9?

(A) Q9% 9QIF

(B) @18Q9d 9% QIR QILIRER
(C) QAURCHER 6TIAF 621NN
(D) QU6QIQ AAG

T, SNQ° R 62988 67 9Ial TQ g2 Q
3912 QA8 K g 99° 6Q719& 695N
dRl QR SQ QA M, H § GQI2 @48
9@° @ MowQ B2 62@8 ARIQNI RQ
@2 N, 39 PQ Q912 @8I 9@ enoea
691G B2 @Qdll AIIST S Q AAR6ER
@8 6297

(A) @I
(B) 2IQ/8@
(C) QYA

(D) 9aQ 66T 6%

@66l 6AIGANIR 6AIFATAG 6TQ U
60192TY ¢ AYY NFEQ QA TIER
2QEe amll 6Q1IgATQ 2lQ 100 m QR
Q16Q6R 64 QUAAGY 6AITMI 9G° 6819
@0 CGO complex 6Q 699IQIQ 50 m
QAR Q8 ¢ AITG 60T AR 2R
50 m QIR SI'A6Q 61 AAQ Y2 62IR
100 m QIR 6Q 6QIGATY AISIQ 96Q
6R6C QR6Q AR?

(A) 150 m
(B) 100 m
(C) 50 m
(D) 75 m

/151-A
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30.

31.

32‘

Three individuals have to be
selected from a group of 6 people.
How many different combinations
are possible?

(A) 120

(B) 60

(C) 20

(D) 10

John needs to choose between two
job offers. Offer A has higher salary
but is located in a city with a high
cost of living. Offer B has a lower
salary but is situated in a town with
a lower cost of living. Which job
offer should John choose?

(A) Offer A

(B) Offer B

(C) None

(D) Cannot be determined

Arrange these words in alphabetical
order and choose the one that
comes last :

(i)
(i)
(iii)
(iv)
)
(A)

Abandon
Actuate
Accumulate
Acquit
Achieve
Actuate

(B) Accumulate
(C) Acquit

(D) Achieve

30. 691G\ 6 R8I gAY §F 6 G 99e

31.

32.

RTQIQ 6291 YAINT AUER 626018 Ga
@R Q@@ (combination) AAR 699 ?

(A) 120
(B) 60
(C) 20
(D) 10
9% @R UTQ (job offers) AUQ KR
(John) 691G QIBQIQ FRI 2T A Q
UND @A, FIg LI 2S N AT
A2Q6Q ARFR| XY B @ {F QQ9ll,
AIg N2 9K QF Y AT ALRER

29F81 88 (John) 606 8% ATGEG AR
QAR ?

(A) ATQ A

(B) aTQ B

(C) 63T Q68

(D) RI6QI ANQ Q6%

AFAYER (R°QUIRT) IRYLR AR 99°
AQI6AVER AIGAQ! I0F RS QG|
(i) Abandon

(i) Actuate

(i) Accumulate

(iv) Acquit

(v) Achieve

(A) Actuate

(B) Accumulate

(C) Acquit

(D) Achieve

/151-A
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33. Three of the following four words
are alike in a certain way and one
is different. Pick the odd one out.

(A) Hendecagon

(B) Hexagon

(C) Heptagon

(D) Pentagon

34. Manish is going on a vacation and
needs to book a hotel. He shortlists
3 hotels and is now comparing them
on the basis of cost, facilities
available and proximity to tourist
sites. Which step of decision
making is Manish performing?

(A) Generating the alternatives

(B) Defining the selection criteria

(C) Evaluating the alternatives

(D) Reviewing the decision

35. In the year 1780, who had started
the first printed newspaper named
as Bengal Gazette, in India?

(A) Annie Besant

(B) James Augustus Hicky

(C) Richard Stafford Cripps

(D) AO Hume

33.

34.

35.

3¢ 998 SI6QIT 4R (Aeaia) FrIQ B6alT
62RE IR 9910al @7 o9 490 Qag!

(A) Hendecagon
(B) Hexagon
(C) Heptagon

(D) Pentagon

08 g6 RI5Q1g Q12108 9° 64 62165M
Qe @GQl 62 G6RIT 62I6ER T
6AYLRA MY, QARG Rl GEQIT 9Q°
9069190 FRER AAFC ARYIT 2RI
69 QREI @RIl AFY 6RQ APERT
ZRIQER SI'A LY AHAE FAQ?

(A) Qag Qg

(B) 62166R 94Q QAR 6AIGNG!

(C) QRga IRYIAe |AQ!

(D) Pg8Q AMA TS

1780 913QI6Q, VAAGEA @4 ae 9IQ
SHRQ RIGF Yol 6QEIM 696%%. (Bengal
Gazette) 891 2@ QQALUEM?

(A) 2R 69218

(B) 69¢1Q 294d @6Q

(C) A0I¢ YTETIE [AQ

(D) 48 246

/151-A
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37.

36. Identify the figure that completes

the pattern :

(X)

(i) (@)

(iii) (iv)

(A) @)
(B) (@)
(C) @)
(D) (iv)

Which behavior is important for
effective  listening in a
communication exchange?

(A) Interrupting frequently to
clarify points

(B) Maintaining consistent eye
contact

(C) Taking detailed notes during
the conversation

(D) Nodding frequently to show
agreement

36. 9990Q 0%¢ A A°RERIYLF 9as all

37. IRYQ §99 6QIFICANT IRTAER 6R%

(X)

() (@)

(iii) (iv)

(&) @)
(B) @)
(C) (@)
(D) ()

21906 2e428 e ?

(A) 91Q4Qq F9agEq 2T QAR
QAR UIAZRC VTR

(B) 99 691916219 §ooiq g4 QS

(C) @6CAITRAS ATACR A°QYg TGE!
gge @<l

(D) QERIT 6QHIRQ IR YR AFS
dele aaQl

/151-A

15

[P.T.O.



38.

39.

Statement : The vehicular traffic
has increased so much in the
recent past that it takes at least
two hours to travel between the city
and the airport during peak hours.

Course of action :

I. Non-airport bound vehicles
should not be allowed to ply on
the road connecting the city
and the airport.

The load of vehicular traffic
should be diverted through
various link roads during peak
hours.

II.

[II. The departure and arrival of
flights should be regulated so
as to avoid congestion during

peak hours.
(A) None follows
(B) Only I follows
(C) Only II and III follow
(D) Only I and III follow

Direction: In each question
below is given a statement followed
by two assumptions numbered I and
II. Consider the statement and
decide which of the given
assumptions is implicit.

Statement : A statement in the
call letter given to candidates of the
written examination states — “you
have to bear the travel expenses for
attending the written examination”

Assumption I : If not clarified all
the candidates may claim
reimbursement.

Assumption II : Many organizations
reimburse the expenses on travel
to the candidates appearing for
written examination.

(A) Only Assumption I is implicit

(B) Only Assumption II is implicit
(C) Either Assumption I

Assumption II is implicit

(D) Both Assumption 1
Assumption II are implicit

or

and

38.

39.

Q@ : 6Q QIFQITIF @ PRIOR 6@ g@
Q8 QIRE AIYQA F9R ANAER AL
Q 4QIQ6aIgE DaIg 9R A8 AAA AIYE!

QAQQa QITYLE :

I 9IQ6QI9q QIRRYRl SIFAINS
QA2Q 9Q° YAIQ6AIT QUYIER AGAT
QuIdQl agoe|

1. 2RI QANILFY 927 ANAER

Q02 9@ @@l (link road) 6Q divert
P69 Q2!

QgIca 8¢ *AANAIA FAIRQ
2IGAR 6 gEIF § 798 K99 QTe!

(A) 69163 QIdIgn 9geNge
(B) 6097 I 99

I11.

(C) 6@9f II 9Q° I gYsY
(D) 6QQ® I 99° III gYeH

@Gﬁﬂﬁ: SOAYe gesye ggea 691G
Qa 2 \’JG“:‘ LEE' EJIQ@IA(Essumption)
[ 9@ I fuiaiadl @gf agq 9e°
JaIQIQeel ARl 62QT Q64
(implicit) 9010 @Qg!

@8 : 00IE1g AYS ANI6R Q2R
691G QIR 9Q (call letter) 6MEIET,
“Age TV 6QQIAIR AN IS
QLR *AQIQ 9Ge”

AINEN I : 92 92 ] @A | AN, GI'62Em
AQg AQRIe 9gHe Q91 }Q AIeS|

AINEI II : 26ee A°gl MEe KR
AQIRIIE 9g%e 9ae QaIB!

(A) 69 AN I AGEAL
(B) 6QQ@ M€l II 2QEF1<

(C) A& I @0 QSN II 2AFEAD
(D) UQEI I G 2AIQE II AFEAL

/151-A
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40. What does the SOLER model in
communication stand for?

(A) Sincere, Open, Listening, Eye
contact, Relaxed

(B) Sit squarely, Open posture,
Lean towards the speaker, Eye
contact, Relax

(C) Specific, Open, Listening,
Engaged, Responsive

(D) Synchronized, Open, Listening,
Eye contact, Reassured

Direction (Q. Nos. 41-45) : In the
following figure, rectangle, square, circle
and triangie represent the regions of
wheat, gram, maize and rice cultivation
respectively. Based on the figure, answer
the following questions :

3
4 gl 2
5 7|09
6 10
11

41. Which area is cultivated by all four
commodities?

(A) 8
(B) 7
(€) 9
(D) 2

42. Which area is cultivated by wheat

and maize only?
(A) 8
(B) 6
(C) 5

(D) 4

40. 6QI916QIS6Q SOLER QI8! (model)
6992 IR MRS ?

(A) Sincere, Open, Listening, Eye
contact, Relaxed

(B) Sit squarely, Open posture,
Lean towards the speaker, Eye
contact, Relax

(C) Specific, Open, Listening,
Engaged, Responsive

(D) Synchronized, Open, Listening,
Eye contact, Reassured

FedERIA (QFISR 41-45) : BaAYe B,
UIAGEVG, QCEVEG, 90 B TYF; F129, IR,
@l Q° IR JIG6ALY 99IE R 1@ 8]
ARIVRE NS 99 eaa Fagl

3
= gl 2
2 719
6 |1
11

41. 699 69G6R Y@ 9I%QIe TR 9IF
Qq?

(A) 8
(B) 7
(C) 9
(D) 2

42. 699 EILER 6RR TLF 9Q° ARl QIF

29?
(A) 8
(B) 6
(C) 5
(D) 4

/151-A
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43. Which area is cultivated by rice
only?

(A) 5
(B) 1
(C) 2
(D) 11

44. Which area is cultivated by maize
only?

(A) 10
(B) 2
(€) 3
(D) 4

45. Which area is cultivated by rice and
maize and nothing else?

(A) 9
(B) 8
(C) 2
(D) 7

46. Which of the following is not a
database object in MS Access?

(A) Reports

(B) Tables

(C) Relationships
(D) Queries

47. Which one of the following
represents the binary equivalent of
the decimal number 23?7

(A) 01011
(B) 10111
(C) 10011

(D) None of the above

43.

45.

46.

47.

6RQ 69969 6a9 AR SIF §9?
(A) S
(B) 1
(C) 2

(D) 11

. 609 69Q6Q 6a9% ARl QIF §4?

(A) 10

(B) 2

(C) 3

(D) 4

69 6IG6Q AIF 9Q° ARl FIF P4 9&°
2RI QI8 24 AIF?

(A) 9

(B) 8

(C) 2

(D) 7

MS Access 6Q G6€Ig U] 62Q%
69150 database object @6¥7?

(A) @saieQ

(B) 69gmq

(C) Qemardaq .

(D) QAR (Queries)

P6QI8 AIQ 6996 62daIn FAQ 23 Q
QIRERT AYAIENIQ JORU] F6Q 7
(A) 01011

(B) 10111
(C) 10011

(D) 9aQ 6M&AT gew

/151-A
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48. In which year was Educational TV

49,

50.

first introduced in India?
(A) 1961
(B) 1959
(C) 1971

(D) 1968

Which is the largest storage unit
among the following?

(A) Terabyte
(B) Megabyte
(C) Kilobyte

(D) Gigabyte

An area is affected by severe
flooding. You, as a District
Magistrate, have limited resources.
Which of the following should be
your immediate priority?

(A) Repairing roads
(B) Distributing food and water
(C) Rebuilding houses

(D) Organizing entertainment to lift
people’s spirits

48. 624 AJ2I6a VING6A ATIYRP QTR

49,

S0.

(Educational TV) 2I9Q 6€2IQ2MI?
(A) 1961
(B) 1959
(C) 1971

(D) 1968

Q6qIg AUER Q€T RICTY 6§I6aR
(largest storage) 21697

(A) 69QIQIRG (Terabyte)
(B) 6AQILIRG (Megabyte)
(C) @ERQINAG (Kilobyte)

(D) GQIQIRE (Gigabyte)

QISR QY QA 69T ZER gRIFE
62IR8| V68 TRl C1IREFE AIVER AITET
qIS6Q A1TG AR QANG! IFFR Aug
6RR0 2ITaea QAe gIfes 6297
(A) 999 AUAT

(B) ¢lley 8 QI§ Q4@

(C) g2 gas adig

(D) 6RIVT 6L G98S qle
AGRIFRR Wae QT 2lcaAINe
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Direction (Q. Nos. 51-55) : The bar graph
given below shows the sales of books (in
thousand numbers) from six branches Bl
to B6 of a publishing company during two
consecutive years 2000 and 2001.

120 7
110 B
100 4~
90 &
80 1~
70 1
60 1
50 A
40 -
304
20 4
10 1~
0_.

Sales (in thousand numbers)

Bl B2 B3

Branches

B4 B5 Bé
W 2000 ®2001

51. What is the ratio of the total sales
of branch B2 for both years to the
total sales of branch B4 for both
years?

(A) 2:3
(B) 3:5
(C) 4:5

(D) 7:9

Total sales of branch B6 for both
the years are what percent of the
total sales of branch B3 for both the
years?

52.

(A) 68:54%
(B) 71'11%

(C) 73:17%

(D) 75:55%

Beaeq! (94 QI 51-55) : 2000 4&° 2001
Adeiea 6163 ¥R gRIFe PR 8a 8a 68
&idll B1 Q B6 60 2q4 6209l Q@& (1000
QHIR)QIQ GIS (bar graph) 6Q QARG

120 =
110
100
90 -
80 -
70 1-
60 -
50 e -
401
30+

o
A
-t
-

105

Sales (in thousand numbers)

B4 B5 B6
B 2000 #2001

B2 B3

Branches

51. 6860 2310 AL Q4R A ISl
B2 60 200 9U6a 62IagMl UG
aderIc Ga0 SISl B4 69 @99 Q¥6Q
cgIRaMI|

(A) 2:3
(B) 3:
(C) 4:

(D) 7 :

52. Q90 9U6Q 418 B6 AG6LS Sg €IS
B3 6Q AI6AIT TQRUQ 6R60 JBIG?

(A) 6854%
(B) 71'11%
(C) 7317%

(D) 75:55%
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53. What percent of the average sales 53. 2000 996Q 9| B1, B3 99° B6 3Q9Q
of branches B1, B2 and B3 in 2001

is the average sales of branches B1, QIQFI@ 2001 Q@G? disll B1, B2 NQ°
B3 and B6 in 20007 B3 QQ0Q 6966 9660 ?

(A) 75% (A) 75%

(B) 77:5% (B) 77:5%

(C) 82:5% (C) 82:5%

(D) 87-5% (D) 87-5%

54. What is the average sales of all the 54. 2000 egQIa 499 91 (1000
branches (in thousand numbers) for QHIER) DANLIT FFD 69667
the year 2000? '

A 73 (A) 73

(B) 80
(B) 80

(C) 83
(C) 83

(D) 88
(D) 88

. I , ° B Q@
55. Total sales of branches B1, B3 and % I8\ Bl B3 e* BS IRg 598 Qgaia

B5 together for both the years (in 929 MY Qe9 edaIR 6o (1000
thousand numbers) are QA°GI) eQRYMI ?

(A) 250 (A) 250

(B) 310 (B) 310

(C) 435 (C) 435

(D) 560 (D) 560
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56.

57.

58.

The sum of the digits of a two-digit
aumber is 9. If the number formed
by reversing the digits is 9 less than
the original number, what is the
original number?

(A) 27
(B) 45
(C) 63

(D) None of the above

A man spends 30% of his salary on
rent and 20% on food. If he has
$ 2,500 left after these expenses,
what is his total salary?

(A) $4,500
(B) $ 5,000
(C) $3,500

(D) $ 3,000

In a sequence of numbers, each
number is the sum of the previous
two numbers. If the first two
numbers are 2 and 3, what is the
6th number in the sequence?

56'

57.

58.

9q a& 389 QWA AAF 9, e ALY
GRgIa 908 Qe ge Ao 9 @
6069 fF QWY 6637

(A) 27

(B) 45

(C) 63

(D) qaq 6MedT qee

68 @, PIF QLI 30% VGl @
20% ¢IQY6Q QIR @8l QT Q=
$ 2,500 QOG G U6Q IRAEY 666
QAS6LNG QRN 6R6G 7

(A) $4,500
(B) $ 5,000
(C) $3,500

(D) $ 3,000

QYRR A6 9LR, gecia A°al
Qe gada AN§| 98 gar gRG QI 2
4Q° 3 949 606Q |A6R QI 6th QAT
6R6Q 7

A) 21
#) (A) 21
(B) 18

(B) 18
C) 13
© (C) 13
(D) 12

(D) 12
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59. A water tank has two inlet pipes
and one outlet pipe. The inlet pipes
can fill the tank in 4 hours and 6
hours, respectively. The outlet pipe
can empty the tank in 8 hours. If
all three pipes are opened
simultaneously, how long will it
take to fill the tank?

(A) 3 hours
(B) 4 hours
(C) 5 hours

(D) 6 hours

60. A sum of % 10,000 is divided into two
parts such that one part is invested
at 8% per annum and the other at
6% per annum. If the annual
interest earned from both
investments is %700, what is the
amount invested at 8%?

(A) 4,000
(B) 3,000
(C) 5,000

(D) 6,000

250%
5%

=7?

61.

(A) 50%
(B) 500%

(C) 5000%

(D) 5%

59. 64T QIdCIFER 9aF [QEME (inlet)

60.

61.

ARG 8 6915 2IAGERS! (outlet) AIRY
AT RRENE ARG AIUFAER Qaxean
4 G891 99° 6 Q9I6Q IFT @8 gl
dAIASEMS, (outlet) AIRGY 8 QQIEQ
CIRTQ SN @RI 9% 3691 QI aIag
NRIEQER 6HIMTUIAINY 6069 6960
ANA6Q TIFT V@ 6297

(A) 3 Qg
(B) 4 Qs
(C) 5 Qg

(D) 6 Q&I

A96L1IE T 10,000 @R RITER FaQ 6210
99 QU9 QTR 8% 9&° AT QFe
6% QUEQ NCIFIRE! 9T Q9 I
A2 QTR &I T 700 99 6069 6960
Ol 8% QM AN RAIAIRAR ?

(A) 4,000
(B) ¥ 3,000
(C) 5,000
(D) 6,000

250% _
5%

(A) 50%
(B) 500%
(C) 5000%

(D) 5%
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62.

63.

64.

65.

66.

The sum of squares of two numbers
is 146. If the square of their
difference is 36, then the product
of both the numbers is :

(A) 72

(B) 160

(C) 55

(D) 16

A peon purchased a chair for T 700,
spent ¥ 170 on its repair and ¥ 30

on the cartage. If he sold the chair
for T 1,080, his gain percent is

(A) 10

(B) 20

(C) 30

(D) 54-29

Find the next number in the
sequence

17, 17, 51, 255, 1785
(A) 16065

(B) 19635

(C) 15965

(D) 14955

3
A can do 2 of a work in 12 days.

1
— th of the work

He can complete 8

in

(A) 3 days

(B) 4 days

(C) 72 days

(D) 2 days

Sonia can copy 50 pages in 10
hours. Priya and Sonia can copy 300

pages in 40 hours. Priya can copy
30 pages in

(A) 10 hours
(B) 11 hours
(C) 12 hours
(D) 13 hours

62.

63.

64.

65.

66.

QRe ¢l QITRA ANF 6298 146
g8 6aRIeea ARcIa FTR 36 94

SI626R ARG HYIQ AQIT 629
(A) 72
(B) 160
(C) 55
(D) 16

caIG9 dae 6918849 700 Féal,
AQIAE QIFI6Q Z 170 9% QR 8 QIETR
(cartage) QIal T30 &F @RIl A& 6Q
691a5Q T 1,080 69 IRWEQ, GI'A NN
QI 69607

(A) 10

(B) 20

(C) 30

(D) 54-29

Q99 9eee! Q°Fil QIZIQ KAl

17, 17, 51, 255, 1785

(A) 16065

(B) 19635

(C) 15965

(D) 14955

- 3 2
A 12 Q@6Q 7y Qe 2QAIEA! 64 KA

% QIS QU6 FAQI IR 6R6S ¥R MIT?
(A) 3 @a6Q

(B) 4 @969

(C) 72 QR6Q

(D) 2 @36Q

cQi@al 50 gl 10 2916@ /4 @xdisal
Jal 6 62172 40 A9I6Q 300 4l @d
Q8 QIa@| el 30 ]I 66T ANAER
@d @@ Q18Q?
(A) 10 Q8I6Q
(B) 11 €4I6Q
(C) 12 Q8I6Q
(D) 13 Q4I6Q
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67. The probability of getting a bad egg

68.

69.

70.

in a lot of 400 eggs is 0-035. The
number of bad eggs in the lot is

(A) 7
(B) 14
(C) 21
(D) 28

Arrange in order, from least to
greatest :

8 3 .19

5 2° 11
8 -3~ 19

AYe —mfa 22
(A) 5~ 2" 11
19 3 8
(B) 11° 25735
(C) _£<_§<_§_
11 5 2
3 19 8

(D) ——<-—=<-=
2 11 5

A chemist has one solution which
is 50% acid and a second which is
25% acid. How much of each should
be mixed to make 10 litres of a 40%
acid solution?

(A) 4 litres of 50% and 6 litres of
25%

(B) 3 litres of 50% and 7 litres of
25%

(C) 6 litres of 50% and 4 litres of
25%

(D) 7 litres of 50% and 3 litres of
25%
If the number K35624 is divisible
by 11, then what is the value of K?
(A) 2
(B) 5
(€) 7
(D) 6

67.

68.

69.

70.

400 29l QdY NEEQA FQIT =g
QILIRAIQ AR 6298 0035 Ag 69
SRl VI A°GY 62T

(A) 7
(B) 14
(C) 21
(D) 28

6819Q 9% 969 AT A |

8 .3 19

5 2' 31

8 3 19

(A) —Z<-2<-2
5 2 11

19 3 8

B i< 2s
(C) ——19<—§<-§
11 5 2

3 19 8

Pl ——m -z e
Pl ~g=-1755

69T QIAAGIRQ 66T ARYLR 28
6990 50% 3@ 6 QVIAT 69G0 25%
Qe U geeiaq 6w6e Fga Qbsm
40% 3@ APIARA 10 ASQ B2IF s2Ia
aIfe?

(A) 50% @ 4 RAGQ B 25% Q 6 FeQ
(B) 50% @ 3 Q9Q 8 25% Q@ 7 A
(C) 50% Q 6 RGQ B 25% Q 4 GgQ

(D) 50% @ 7 @SR B 25% @ 3 AeQ

Q9 Q°®Yl K35624, 11 QIaI FRIde
62IRAIEQ, GIRETEN K Q FRY 68607

(A) 2
(B) S
€ 7
(D) 6
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71.

72.

73.

Direction (Q. Nos. 71-73) : Study the bar
chart and answer the questions based
on it.

Production of crops (in 1000 tonnes) over

the years.
% 90':_ =)
5 80q R P
B 701 o 8 2 2
§ 607 > 2 o 2
£ 50 w (2 P
3 1 Q > 1 A
g 404 - ZR %
£ 30 & ] 1
E - 1
20 A . 1 A
] ZIZNRZ
101 s %
9 n O b~ 0 =\ o — ™
(=} =} (=] =] [} — — —i
[=) (=) (=] o =} (=] o =}
N o o™ ] ™ ()] ™ ™N

Years —>

The average production of the crops
in the year 2006 and 2007 was
exactly equal to the average
production of which of the following
pairs of years?

(A) 2010 and 2011
(B) 2009 and 2010
(C) 2008 and 2010
(D) 2005 and 2011
What was the percentage increase

in the production of crops in 2012
compared to that in 20057

(A) 180
(B) 200
(C) 220
(D) 250
What was the percentage decline

in the production of crops from the
year 2007 to 20087

(A) 34%
(B) 25%
(C) 21%
(D) 40%

Beaaql (ge QeI 71-73) : QSITYRD 694
g49eee eaa geie «al

QdaIq 424 @QIee (1000 €9)

Production of crops

71.

72.

73.

90 .3
801 = P
701 2 S Z &
60 2 Q f L]
o] H2HUEHE
40 - % o 207
T an / / /
307 * A U
20 ZRZRZR%
10 s 1
g 0 o b~ o o Q — N
Q (=} o =] o - — =

Q =) (=} =] =] (=] =] =)

™ [a] o~ N N ™ ™ o™

Years —>

0006 9@° 2007 F132I6Q AR FAY
QQIeF FOAYC 629 9@ SYa AL
QQIee Qe Qfle QI Q41217

(A) 2010 9Q° 2011
(B) 2009 9&° 2010
(C) 2008 4Q° 2010

(D) 2005 \49° 2011

2005 (132! GRAIER 2012 AJALIER 6R6E
gGae 94 QLR 21Q 9F AIRB?
(A) 180

(B) 200

(C) 220

(D) 250

2007 @ 2008 AALIER 6R6C YES QY
QQIeR 2 A ARG ?

(A) 34%

(B) 25%

(C) 21%

(D) 40%
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Direction (Q. Nos. 74 & 75) : In the light
of data sufficiency, choose the appropriate
option from the following :

74. The last Sunday of July, 2018 fell
on which date?

Statements :

(i) The first Sunday of that month
fell on 5th.

(i) The last day of that month was
Friday.

(A) Statement (i) alone is sufficient
while Statement (i) alone is not
sufficient

(B) Statement (ii) alone is sufficient
while Statement (i) alone is not
sufficient

(C) Either Statement (i) or
Statement (i) is sufficient

(D) Neither Statement (i) nor
Statement (ii) is sufficient

75. Mr. X ranks eighteenth from the top
in a class. What is his rank from
the last?

Statements :

(i) There are 47 students in the
class.

(i) Mr. Y who ranks 10th in the
same class, ranks 38th from
the last.

(A) Statement (i) alone is sufficient
while Statement (i) alone is not
sufficient

(B) Statement (i) alone is sufficient
while Statement (i) alone is not
sufficient

(C) Either Statement (i) or
Statement (i) is sufficient

(D) Neither Statement (i) nor
Statement (ii) is sufficient

FERaRN (Y9 QI 74 & 75) : G2l 2NIGeT
Q0% 299 99IF K9

74. 2018 Q1321 QRIA AIAQ 648 QIQIQ

75.

6R6Q GIAY 6RIRAMI?

12y

(i) 69% AIAR QAN AR AR 5 GGG |
(i) 69T AIAQ AR AR AR |
(A) a8 ()T Q6aq 8g ALY (1) ges
(B) Q18QY (i) & acaq @g A3 (i) Q6%
(C) 91894 (1) @Al ALY (i) 6]

(D) A18_Y (i) @Al ABY (i) A6eIY Qes

A9Q X oI 6541169 QeI 21g 18 QYIFER
2AQPS| 6619 2IQ CITR QUIF 6960 6297

129y
(i) 6816 47 K& 2le 8181

(i) A]Q Y 69 64 6461Q 10th
QIR 1e° 6619 &IQ 38th QI

(A) 1894 (1) A0 A AN (ii) Q6%
(B) F18QY (ii) & Q0@ @] A8 (i) Q6%
(C) A18QY (i) @Al ALY (i) A0

(D) 9184 (i) @A ABY (i) A0S Q6L
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76. In the following Bar diagram, the

proportion of expenditure spent on
the several things by two persons
X and Y are shown :

Z 20,000 per month

10%
50% Food & Clothing
Food &
Clothing
60%
Miscellaneous
30%
Miscellaneous
20% 30%
Education Education
Person X’ Person Y’
Total expenditure : Total expenditure :

Z 1,00,000 per month

From the above Bar diagram, which
of the following statements is
correct?

(A) Person X spent moré money on
food and clothing than person
Y.

(B) Person X spent less money on
food and clothing than person
Y.

(C) Person X and person Y spent
the same amount on food and
clothing.

(D) The amount of expenditure on
food and clothing by person X
and person Y cannot be
compared.

76. 00AYe ‘Bar diagram’ 6Q X NQ° Y
gQ QU3 38R §I9a 2QAIC AdIaIRg!

10%
50% Food & Clothing
Food &
Clothing
60%
Miscellaneous
30%
Miscellaneous
20% 30%
Education Education
Q@ X MY
QAQIQ & A I
Z 20,000 Q1@ Z 1,00,000 QIAS

Q96a 94619128 Q! ‘Bar diagram’
216 694 18T A0S 1L 6RE!

(A) X Q4 @Iy G cQIBIRE] Y 1)
216081 2R OF QU FA]T

(B) X @48 HIQY G 6QIIQEQ Y N
216081 Q6| OF1 QIO R8T

(C) X G ¥Ie° Y QI8 Q@ QqIe o
FIQY 8 6QITINER QIB 2083

(D) X Q4§ B Y QIg& QoI &liQd G
CUITIRAIR RAAS! ¥% gRRl @Al
Qe Q0L
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Direction (Q. Nos. 77 & 78) : Study the
following pie chart and answer the
questions:

The monthly expenditure (in percent) of
a family is represented by the given pie
chart. Let the total monthly income of
the family be T 33,650, then :

Savings
Food and
i 12% clothing
e
25%
13%
23% 18%
Chlld House
Education 9% Rent
Entertainment
and others

77. The amount of annual savings
would be

(A) 48,310
(B) 48,456
(C) ¥51,393

(D) 50,284

78. After payment of house rent and

deductions of monthly savings, the
total monthly income of the family
remains

(A) 23,545

(B) ¥23,555

(C) T29,471

(D) Z28,350

FeTaRN (99 °H41 77 & 78) : 9Iq oI0 (pie

chart) @ €eMAR @8 g4Yeea 2 gele
@al

696N adQIa AIFe 99 (2RI2R) aia 9Id
(pie chart) 6@ Q4IQIRB| AGQIRQ 1G9 g
Q6T 33,650 9 606Q 7

Savings

Food and

clothing
Medical

13%

18%

23%

Child

5 House
Education

Rent

Entertainment
and others

77. QI8R 986 OF1 69607
(A) T48,310
(B) T48,456
(C) T51,393

(D) % 50,284

78. AQ @Y 9L 6 713 980 o= S6ag

fEMACQ ATIQQ AIdR ALY g
6RE6E 7

(A) T23,545
(B) 23,555
(C) 29,471

(D) 28,350
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Direction (Q. Nos. 79 & 80) : Answer the
questions based on the following table
which shows the results of half yearly
and annual examinations of four sections
A, B, C, D of Class-V students in a school.

Geaanl (g4 Q&I 79 & 80) : FAMYS
coQnea QdIQIRgS 6FEd U@ IR
6g61-V QQuieaiewa A, B, C, D Q16QIT
Qa6gda AgIde 6 Q¥e B TATR
300d! 2RINCA 949 Qaa @agl

Result No. of Students TRITR QuENQIeE Q&I
Section Section Section Section Qa6gEN @AEgS @AEFEN degsll
Student A B Cc D TRTR A B c D
failed in
both Exams 28 23 17 27
QAVG IR
Students failed E‘F_]’ﬁ‘{ «6919&@1
in half-yearly Qquien 28 23 17 27
but passed in
Annual Exams 14 12 8 13 g@@g} aQIsIsa
6Tm Qg QISR
Students passed gatlglea glq
in half- ~ = <
e Qagel deudl 14 12 8 13
Annual Exams 6 17 9 15
F1gI1de6a Q19
Students passed QPR AUIEA
in both Exams 64 55 46 76 em 6 17 9 15
79. How many students are there in QUG YR
Class-V of the school? Q1d *@2<l
Qquier 64 55 46 76
(A) 386
79. FQIGAQ V- 6548160 QQyleiw Qe
(B) 219 6@6%?
(C) 399 (A) 386
(B) 219
(D) 430
(C) 399
80. Which section has the maximum (D) 430
success rate in annual " . B
examination? 80. 62 QU-6441q AR ATPGC! QY@
JQUAIER 62IRT ?
(A) Section A
(A) @aegeél A
(B) Section B
(B) @uegé B
(C) Section C (C) Q6881 C
(D) Section D (D) @Q6g41 D
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